o
[N

T F AR
= o <) o

A D LSE--rerree e §0 | R R R R R EERILEEERREET ERE R
S L L
L o L

o S E - S S S-S - F
v 0.1: : Vv 0.1:
0.05F -+ --ehrrmemdenneennheee 313 E

OF---veberrm e

o Qz: . i
3 F 5
B SRRRSEIIIERLE TEREILTRERLERS t
A S U WU SO W
3 -2 -1 0

2 3 -3 -2 -1 0 1 2 3

12

beamline) TP n (PCA to beamline)

to
== §§ ﬁiﬁ%??—qg%%ue RRes
—— B :aSeTgF?E Etrlcogree[}%

§§§§ L
IS

P 08
pt1000_eta2pOto2p5
— 100,

S S
< 60 : : : : :
v 40F

X

, > (Hm
T T

o

:3, -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p, > (%)

Ratio

0.9

83— =210

T2 3
TP n (PCA to beamline)

08



	Contents
	Page 1


